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Worksheet 5 – Solution   

Strand  Reading and viewing   

Sub Strand  Apply a range of strategies to identify main ideas and use contextual clues to make 

meaning of texts.  

Content Learning 

Outcome  

Read and view with understanding a variety of texts and visuals to identify and 

interpret useful information available.   
  

   

Activities   

Read the above passage and choose the best answer.   

1.According to paragraph 1 of the passage, the positive impact of the plastic bag levy is   

A. the use of 70 million plastic bags.                  B. the consumer behaviour is now worse.   

C. consumers are using fewer plastic bags.         D. consumers are using more plastic bags.  

 

2. The plastic bag levy was introduced in …………………...   

A. 2010                      B. 2017                             C. 2025                           D. 2050  

 

3. Why is plastic use a food security issue?  

A. The fish need the plastic for proteins.   

B. The fish depend on the plastic for food.   

C. 97% of the fish have turned into plastic.  

D. Plastics affect the fish in the form of micro-plastics.  

 

4. The second reason plastic use in the Pacific is a great concern is that  

A. people will be consuming more plastic affected fish.   

B. eating more fish will mean getting rid of plastic.  

C. increased fish number equals increased protein.  

D. due to dietary needs, people will consume more plastic affected fish.  
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